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MACROECONOMICS 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt questions from all the Sections as 

per instructions given in each Section. 

Section—A 

Note : Attempt any two questions from this Section 
in about 500 words each.  2×20=40 

1. Explain why and how, according to classical 

economists, the economy always operates at the 
full employment level. 

2. Briefly explain the meaning of IS and LM 

curves. What are the factors that influence the 
slope and  position of the IS and LM curves ? 
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3. What is meant by inflation ? Briefly describe its 
causes and effects. 

4. What are the major objectives of monetary 

policy ? Give a brief account of the instruments  
of monetary policy. 

Section—B 
Note : Attempt any four questions from this Section 

in about 250 words each. 4×12=48. 

5. With the help of a diagram, explain the concept 
of investment multiplier. Explain how the 

values of investment multiplier and marginal 
propensity to consume are related. 

6. What according to Keynes are the factors that 
lead to the preference for liquidity ? 

7. What is meant by national income ? Briefly 
describe the expenditure method of measuring 
national income. 

8. Explain the concept of ‘Keynesian Cross’ 
through a diagram. 

9. Describe various flows (real and money) in a 
closed economy. 
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10. Explain why the balanced budget multiplier is 
equal to unity. 

Section—C 

11. Write short notes on any two of the following in 
about 100 words each : 2×6=12 

(a) Limitations of investment multiplier 

(b) Quantitative easing 

(c) Quantity theory of money 

(d) Production possibility curve 
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      BECC-103 

ch- ,- (vkWulZ) vFkZ'kkL=k 

(ch-,-bZ-lh-,p-) 

l=kkar ijh{kk 

fnlEcj] 2020 
ch-bZ-lh-lh--103 % ifjp;kRed lef"V vFkZ'kkL=k 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx esa fn;s x;s  funsZ'kkuqlkj iz'uksas ds mÙkj 
nhft,A 

 

 Hkkx&d  

uk sV % bl Hkkx ls fdUgha n k s iz'ukas ds mÙkj 500 'kCnksa 
(izR;sd) esa nhft,A   2×20=40 

1- Dykfldy vFkZ'kkfL=k;ksa ds vuqlkj vFkZO;oLFkk ges'kk 

iw.kZ jkstxkj ds Lrj ij lapkfyr gksrh gSA D;ksas vkSj 

dSls] le>kb,A 

2- IS ,oa LM oØ dk vFkZ la{ksi esa crkb,A IS ,oa 
LM oØ dh fZLFkfr ,oa vkdkj dks izHkkfor djus 

okys dkj.kksa dks Hkh le>kb,A 
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3- eqnzk LiQhfr dk vFkZ le>kb,A blds dkj.k ,oa izHkkokssa 

dks Hkh la{ksi esa crkb,A 

4- ekSfnzd uhfr ds eq[; mís';ksa dks le>kb,A ekSfnzd 

uhfr ds midj.kksa@lk/uksa ds ckjs esa laa{ksi esa fyf[k,A 

 Hkkx&[k  

uk sV % bl Hkkx ls fdUgha p kj iz'ukas ds mÙkj 250 'kCnksa 

(izR;sd) esa nhft,A   4×12=48 

5- ^fuos'k x.kd* dh vo/kj.kk dks vkjs[k ds ek/;e ls 

crkb,A fuos'k xq.kd dk ewY; ,oa miHkksx dh lhekar 

izo`fÙk esa lEcU/ dks Li"V dhft,A 

6- dhUl ds vuqlkj rjyrk vf/eku dks vkxs ys tkus 

okys dkjd D;k gSa\ 

7- jk"Vªh; vk; dk vFkZ le>kb,A jk"Vªh; vk; dks ekius 

dh O;; fof/ dk la{ksi esa o.kZu dhft,A 

8- ^dhfUl;u ØkWl* vo/kj.kk dks vkjs[k ds ekè;e ls 

Li"V dhft,A 

9- ,d can vFkZO;oLFkk ds fofHké (okLrfod ,oaa 

ekSfnzd) izokgksa dk o.kZu dhft,A 
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10- larqfyr ctV xq.kd bdkbZ ds cjkcj D;ksa gksrk gS] 

le>kb,A 

Hkkx&x 

11- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

100 'kCnksa essa (izR;sd) nhft, % 2×6=12 

(d)  fuos'k xq.kd dh lhek,¡ 

([k)  ifjek.kkRed lgtrk 

(x)  eqnzk dk ek=kkRed fl¼kUr 

(?k)  mRiknu laHkkO;rk oØ 
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